Biology Group-l

"~ 10th Class 2018

Time: 15 Minutes | (Objective Type)

Max. Marks: 13|

Note: Four possible answers. A, B, C and D to eag

©141-

-question are given. The choice which you think s

correct, fill that circle-in front of that question with
Marker or Pen ink in the answer-book. Cutting or

 filling. two or more circles will result in zero mark in

that question.

- Charles Darwin proposed the mechamsm of

organic evolution in:
(@) 1838V .  (b) 1882

“(c) 1930 ~ - (d) 1900
. Non-renewable resources are:

(a) Fossil fuels ¥ (b) Wind

(c) Water  (d) Soil |
- Female reproductive part of flower is:

(a) Gynoecium ¥ (b) Androecium
(c) Sepals (d) Petals

.. Diazepam is a drug.of:

(a) Vaccines ~ (b) Sedatives v _
(c) Antibiotics (d) Analgesics

The disease in which: destructlon the wall of

alveoli is:

(a) Asthma =~ (b) Pneumonla

(c) Emphysema v (d) ‘Bronchitis

Making a normal pigmentation is example of:
(a) Phenotype vV  (b) Genotype

(c) Traits ~~  (d) Chromosomes
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Encyclopaedia “Al-Tasrif” is written by:

* (a) Al-Farabi (b) Abu-al-Qasim v

(c) Alilbn-e-lsa  (d) Al-Haitham

Example of vegetative propagatlon by leaves is: .

(a) Mint ~ (b) Potato

(c) Garlic ~ (d) Bryophyllum V.
. The length of spinal cord is:

(a) 20cm ‘(by 40 cm a

(co 60cm  (d) 70cm

The smallest bone in human body is:

- (a) Stapes v (b) Incus

(c) Malieus (d). Vertebra

The enzyme Whlch used to dissolve blood clots
- is: -

(a) Amylase (b) Pepsm

(c) Tripsin (d) Urokinase v

Number of bones in appendlcular skeletonis:

(a) 126 V (b) 116 | x
() 136 . (d) 146.

Scanned with CamScanner

b



